RAKEP R E

05225 18 %=

-

’
-

BEIR-&EFHERE

PR RS AT B — B oL
spEs | 1 |2 |3 |4 |56 7|89 [10]11]12]13
S b |10 (15 (20| 25|29 |33 |37 |41 | 45|48 |51 |54
EEFES | 14 [ 15|16 | 17 [ 18 |19 | 20 | 21 |22 |23 | 24 | 25
(=7 b7 | 60|63 |66 (69|72 |75 |77 |79 |81 |83]|85
— ~ BEIERE -
b 1 2 3 4 5 6 8 10
BE A B D C B C B A
—~HEFEE R ERLEIREER—ERED)
RSk 1 2 3 4 5
ExE */3_5 10v/6—25 123.41 3V7 -9 1_52
Bk 6 7 8 9 10
BE | 175V/161 2V17 (x+4) (5x—3) |3 (3x+2) (x—4) | (2x—3) (x—4)
RER 11 12 13 14 15
BE | Ax+6)13x+9) | e+3)x—x+1)° | ab (—y) (ax—by) | (x+y+5) (x—y+5) 53

= BHEE : (SEAEA T BRI S R - BRI TS - 15 5)

1.
(1) SRR g x AR R EH
Al
224 x2= (25) 2
= (2.5) 2—22=2.25
REy x>0 #f5§ x=1.5 -
P DABEBIEE G 8 1.5 AR
(2) TRl YNETRE 0.9 AR
Fr LUREHIEE S /5 1.5+0.9=2.4
B L THEERG A y AR FHEEER
TEHAT
y*+ (24) 2= (25)?
y’= (25) ?2— (2.4) ?=0.49
Ry y>0 - % y=07 -

Pt DARSTE T 78
2-07=13 AR

2.
RIS i 3% + Ty —20y°

AN

=(x+4y) Bx—35y) 3

=25 +3) @V5 - V3)f-17]

-2

AN

=(2V5)* - (v3)°

-1 45

=203

=17 147
%17

3.
R i
x> —5x*+4x3 —20x*>—5x +25

=x*x—5) +4x%(x — 5)—5(x—5)

=
=(x—5)(x* + 4x*> = 5)

-1 4%
=(x—95 =D +5)

=T
=(x—5 =1 &+ &+5)

=




